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Q. Solve the inequality 20x> —3x —2 > 0,x € R. J
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Answer:

Solve : 20x%® —3x —2 =
20x> —8x+5x—2 = 0
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Answer:
Solve : 20x* —3x — 2 =

20x%> —8x +5x—2 =
4x(bx —2)+1(5x—2) = 0
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Q. Solve the inequality 20x> —3x —2 > 0,x € R. J

Answer:

Solve : 20x%> —3x —2 =
20x% — 8x + 5x — 2
4x(5x — 2) + 1(5x — 2)
(5x —2)(4x+1) =
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Q. Solve the inequality 20x> —3x —2 > 0,x € R.

Answer:
Solve: 20x> —3x—2 = 0
20x* —8x +5x—2 = 0
4x(bx —2)+1(5x—2) = 0
(5x — 2)(4x + 1) 0
5x—-2 =0 4x+1 = 0
bx = 2 dx = -—1
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Q. Solve the inequality 20x> —3x —2 > 0,x € R.

Answer:

Solve: 20x> —3x—2 = 0
20x* —8x +5x—2 = 0
4x(bx —2)+1(5x—2) = 0
(5x — 2)(4x + 1) 0

bx = 2 dx = -—1
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Roots: x = —

Bl
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Roots: x = — Sketch:
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(63118}

At roots, 20x2 —3x —2 =0
Where is 20x2 —3x —2>07?
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Roots: x = — Sketch:
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At roots, 20x2 —3x —2 =0
Where is 20x2 —3x —2>07?

5.20x2 —=3x —2>0 for
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At roots, 20x2 —3x —2 =0
Where is 20x2 —3x —2>07?
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Roots: x = — Sketch:
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At roots, 20x2 —3x —2 =0
Where is 20x2 —3x —2>07?

520x2 —3x—2>0for x < —7,x > 2,
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Roots: x = — Sketch:
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At roots, 20x2 —3x —2 =0
Where is 20x2 —3x —2>07?

5202 =3x—2>0forx < —3,x> 2, xeR
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